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M. Com EXAMINATION
MC-202
BUSINESS STATISTICS

Time : Three Hours - Maximum Marks : 80

Note : Attempt any Five questions from Section B
and two questions from Section C. Section A

is compulsory.

Section A
1. Write notes on the following : 8x2
(a) Mean Deviation
(b) Positional Average
(c) Complementary Events
(d) Parametres of Poisson Distribution
(e) Null Hypothesis
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(f)  Scatter Diagram
(g) Standard error of estimate
(h) Secular Trend.

Section B

For the day and evening workers in a factory,
the following information is given. You are
required to calculate the combined' standard
deviation of the entire set of workers. ;;

Day Evening

No. of work 40 60
Total bIncomc Per .

‘week (3) 27,400 38,400
Standard Deviation (%) 95 © 90

Also determine for which group variability in

Income is greater.

What is the empirical relationship between
mean, median and mode ? Is this relationship

always true ?
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4. The simple correlation coefficient between

temperature (x;), yield of wheat (x,) and

rainfall (x;) are as follows :

r-lz = 0.57
f'l 3 i 0.42 -

Calculate the partial correlation coefficient 123

and multiple correlation coefficient Ry 53.

What do you mean by coefficient of
determination. How is it calculated and

Interpret ?

A call centre with a large number of computer
systems reports that on an average, per week
5 éyslem develop some problems that need to
be attended by a service machine. Calculate

the probability that during a week :
(a) Exactly 5 systems will develop problems

(b) There will be no problems
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(c) At least 5 systems will develop problems

(d) At least 5 but not more than 6 systems

will have problems.

Write notes on the following ;
(a) Point estimation

(b) Systematic Sampling.

A ccll.ular phone company: conducts a survey
to determine the ownership of cell phones in
different age groups. The results of 100 house-
holds is given below. Test the hypothesis that
the proportion of persons owing cell phones is
same for all age groups. Use 5 percent level

of significance :

Age Group Cellular Phone
Yes No
18-24 50 200
25-54 80 170
55-64 70 - 180

65 and above 50 200
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10.

1.

12.

Differentiate between one-way and two-way
ANOVA. , 5x8

Section c

Define the different measures of central
tendency, explaining each of them can be
calculated for a given frequency distribution.

A large multinational company employs 4800

people of which 1920 are females :

(a) Specify the sampling distribution of
proportion of female employees for
samples of size fifty drawn without
replacement.

(b) Obtain the probability of selecting a
sample that contains no more than 35
percent female employees.

(c) Obtain the probability of selecting a
sample containing at least 0.50 proportion
of female employees. '

Explain and differentiate between Type I and
Type II errors. Why they are said to be
negatively correlated ?
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13. The equations of two lines of regression
between variable x and y are :
6x £ 9y — 228 =0
7x + 3y - 116 = 0

The variance of x is 4. Obtain the values of

the following :
(a) The mean values of x and y
(b) Varance of y
~ (¢) Coefficient of Determination
(d) Coefficient of Correlation
(e) Estimated value of y for x = 10

(f) Standard error of estimate of x on y and
y on X. 2x12=24

(Hindi Version)
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